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1. Translate any two of the following to your mother language : 4x2=8

=5 A g CSiE JiesEina SeAam = :
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(b) o Afqaardi: WTETE: SAaedl: SO TEEd el 99 9 SR

(c) TAT: STHA-TS) e -garg-aia fFa 799, 379 § Ay o SgH @29,

WIO-HIEH AT ARY 3|

2. Answer any one of the following :

b

=54 [Erien ab=F T 5= 2

1) What are the six vices a man should avoid ?

e sifaEm waamat wwhr oqm T e

() What are the siv causes of happiness on Earth according to

‘TeameTn: ' ?
“Tedrmagen: '—= 9w of=Me F== =50 =F¢ fa f& e
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Answer any one of the following questions :

THE HRCASE [Treien abig Twg e -

(@) "5 JEgyns:,
Who i1s the speaker here ? Who is addressed 'S5 here ?

Mg TE] (FA TFT T 9w iR = e

(b) "'‘HEER! T=E wia asiiraasTas): Fre
Who is the speaker here ? Whom did the speaker say this ?

NG T& (FF 2 A% [0 G5 <2 (Fiwsi?

(c) “'USE) TET oA AU W owed weadaes oig”
Who was '@¥Tq7’ ? What was the ‘92%'?

‘AR R fEE 2 e s wgfusie

4. Fill in the blanks in the following verse with appropriate words : 3

Coges «E T AR A 20T 7T AL g

e 95 . Tenfaygm :
THod die Iiaal = =iaE: |
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4. 9 Taa== fa=n ; T%l

Yegaraiy goa-d TYREH ¥
5. (a) Derive any two of the following words : 1¥2x2=3

w9 4 ol g6 #iva qresite =E e
(i) ==Hin Q. No. 1l(a)

1 91X fa) 299 |

(i) == in Q. No. 1(bj
1 S (D) 2=e |
(iii) A4 in Q. No. 1(c)
1 #1% (c) AHT |
(iv) =M in Q. 'No. 1(c)
1 =R {c} 25|
() Decline any two of the following : 1x2=2
4 [aeeTeen ghrd <A Fer o

(i) HE in 2nd case-ending singular.

afg B T aa=5Te |
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(c)

(d) Frame adjectives from any two of the following nouns :
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(i) Hid in 7% case-ending plural.

— o=

Hid HE [FelEq qean0s |

(iii) THA in 1st casc-ending plural
o s kefEa a=mms |

(iv) FdHE in S case-ending singular
Foig, A« Fefea acmmre |

Conjugate any two of the [ollowing :

Se el ghra arg=mel FE
() Ny + = e
(i) & + we =
(iii) N1 + g2 =i (wEug) |

(iv) FE + o= g

S A @ cpieen o s cml {oaae A eiee <=4 -
Fen; =mfo; =, =1
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